How to know a clause when you see one
Independent clause: a complete sentence on its own

· a group of words that contains a subject and verb 

· expresses a complete thought

Blinky studied in the Sweet Shop for his chemistry quiz.

( Write two independent clauses for practice.

1.

2.

Dependent clause: can’t stand alone as a sentence

· still contains a subject and verb 

· but does not express a complete thought

· often set apart by a “dependent marker” word

When Blinky studied in the Sweet Shop for his chemistry quiz  [so…what happened next??].

Dependent marker word: when added to the beginning of an independent clause, the clause becomes dependent; indicates that an independent clause will follow to complete the thought

When Blinky studied in the Sweet Shop for his chemistry quiz, he got distracted by all the colours.
Common dependent markers include: after, although, as, as if, because, before, even if, even though, if, in order to, since, though, unless, until, whatever, when, whenever, whether, and while.
( Introduce a dependent marker into each of your sentences. Complete and punctuate the sentence as necessary.
1.

2.

Common errors 

Comma splice: the use of a comma to separate two independent clauses. To fix one:

· Make these independent clauses into two sentences (i.e., change the comma to a period)

· Separate them with a semicolon 

· Make one clause dependent by inserting a dependent marker word in front (take note: this will necessarily introduce a relationship between the words)

Incorrect: Binky likes the Sweet Shop, he finds it an inspiring place to study.

Correct: Binky likes the Sweet Shop. He finds it an inspiring place to study.

Binky likes the Sweet Shop; he finds it an inspiring place to study.

Binky likes the Sweet Shop because he finds it an inspiring place to study.

Run-on sentence: two (or, mon dieu, more!) independent clauses that are not separated by any form of punctuation. Fix as above.

Sentence fragment: a dependent clause or other incomplete thought that is left stranded without an independent clause. So much will depend on what it is you want to say, but you might fix a fragment by: 

· combining the fragment with another sentence to make a complete thought 

· removing a dependent marker

· introducing a core subject/verb pair

Incorrect: Because Binky loves green and orange polka dotted gobstoppers.

Correct: Because Binky loves green and orange polka dotted gobstoppers, he leaves his study sessions feeling a little dizzy.


Binky loves green and orange polka dotted gobstoppers.

Because of his earliest memories as a tadpole, Binky loves green and orange polka dotted gobstoppers.

Sentence Types

Simple sentence: one independent clause and no dependent clauses.


Binky learned how to make fizzy candies in chemistry.


The Sweet Shop gives Binky dreams about the circus.

Compound sentence: multiple independent clauses but no dependent clauses. They are joined with a coordinating conjunction like and, but, or, yet, for, because, so. 

The store clown frightened Binky, and he hopped off screaming when he saw it.

Binky sat at the wrong table one day, and a territorial crow threatened him viciously.

( Write a compound sentence here.

Complex sentence: A sentence with one independent clause and at least one dependent clause.

After Binky added up all his change, he found he had money for one last gobstopper.

While the huge gobstoppers are fascinating, Binky prefers the elegant small ones, which he can pop two at a time. 

( Try one out here.

Complex-compound sentence: multiple independent clauses and at least one dependent clause.

With his reputation on the line, Blinky entered the local science fair, and, overcoming nerve-racking competition, he wowed the judges with his fizzy candies, which were inspired, as we know, by the Sweet Shop.

( Elaborate your complex sentence above with an additional independent clause.
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